Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.7.dwg

203 Humble Ave.

STEVES

San Antonio, TX 78225

STEVES AND SONS

OPAQUE FIBERGLASS DOOR
DOUBLE

INSWING/OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 7th Edition (2020) Florida Building
Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment fo base

material shall be beyond wall dressing or stucco.

. When used in areas requiring wind borne debris protection this product is required to be protected

with an impact resistant covering that complies with FBC Sections 1609.1.2 & R301.2.1.2 of the FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that shown for 2x

buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering analysis by

a licensed engineer or registered architect.

X
[ [
® [
X
2 PANEL 2 PANEL
3/4 SQUARE TOP PLANK

110
[

3 PANEL
CRAFTSMAN

LEGACY PANEL COLLECTION

74" MAX. OVERALL

FRAME WIDTH

2 9
<3 <=
o=z <P
<= 20 X &
=0 L& °
o =X
nT ;O o
— Ll ,\LLI

< oy

= 2

E E

XX

74.0" x 81.5"

TABLE OF CONTENTS
SHEET # | DESCRIPTION SHEET #
1 Typical Elevations, Design Pressures & General Notes 6 Horizontal & Vertical Cross Sections (1X Buck)
2 Door Panel Details 7 Horizontal & Vertical Cross Sections (Direct o Masonry)
3 Panel Options 8 Vertical Cross Sections
4 Elevations 9 Buck & Frame Anchoring & Hardware Details
5 Horizontal & Vertical Cross Sections (2X Buck) 10 Bill of Materials & Components

June 7, 2022

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

W

Lyndon F. Schmidt
P.E. No. 43409

R

FBPE Registry No. 9813

STEVES & SONS
FIBERGLASS DOOR

PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 4/20/22

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—41479.7

SHEET _1_oF 10

© 2022 R.W. BuILDING CONSULTANTS INC.



—— 24" ] ~12' - 2.4 2
05—~ = EXTERIOR — o8 G "
z
? SRS R 55
‘,b_'_' T L - e gda;
~ a® o ol S YN & 2£3°
.L e . o~ b D . . 3 . - = n .,
- .. . .4 . Ap. //, “real l‘ \\ 5‘ >U @ 20
. . [ S at . 7 esen’ %
L ‘ ) “bﬁ > . b 4 ) '\ /’I,, ‘k ?\\\\ 2 oo >
\ LTIV AN Y g9n.%
INTERIOR / COMPOSITE 8. o xSD
COMPOSITE ~ HINGE STILE LOCK BLOCK LATCH STILE CAP 3E, zg8ce
CAP (LVL) 19.5'LONG (tvi) 2£8 3 Ew
(LVL) Q%% Boal
1"\ HORIZONTAL CROSS SECTION COMPOSTTE SN =
o § EZ
\2/ CAP & N LK
j 218 5 @<
— * H v
TOP RAIL — | - 28 a
L - aQ <
35.75' MAX. DOOR __, (LVL) 35| L
WIDTH L f ezsg H 8=
RN {ﬁo% Qg
@ S a% 7
L3 - i Al n
/ Eo et 8 x
i S o =
FIBERGLASSSKIN s = "% - 2l z
EIN
I— _———--——-,?-—7- v v E
INTERIOR EXTERIOR
= i /
¥ 0 e %)
> =z
S €) _L._ | AN %
8 FOAM CORE— [+ -~ . % 2
> @ , ' 'n‘ v 0
< . . .
o~ v, v ¥
~ . ». v
SEE HARDWARE TABLE BOTIOM RAIL &
REINFORCEMENT "
{LVL) . =
2 S
LATCH:  SIGNATURE SERIES , o
KWIKSET | DEADBOLT:  SIGNATURE SERIES (980) = =
3 BOTTOM RAIL oaTe: 4,/20,/22
LATCH: F51 (COMP) I SCALE:
SCHLAGE | peapBOLT:  BEON —— N.T.S.
@F IBERGLASS DOOR PANEL LATCH: PREMIUM HANDLESET ™ SFM;
, : CHK. BY:
ROCKWELL 1. ,ADBOLT: PREMIUM DEADBOLT @ VERTICAL CROSS SECTION TR
FIBERGLASS SKIN: 0.08" MIN. THK. FL—41479.7
FOAM CORE: POLYURETHANE - 1.9 PCF MIN.) SsHEET 2 OF 10

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.7.dwg

© 2022 R.W. BUILDING CONSLILTANTS INC.



TON| SANYLINSENDOD aNIaning "M'y 2202 @

£186 ‘ON Ausibey Idad

LBLE'6GI'CLE "ON 8suoyd SNOISIAZY
eegrcis - A 3Iva TON ~lo
GBSEE 4 ‘OSWIBA ‘OCZ Xo8 ‘O-d \Su SNOLJO T3NVd s = ol o 1_
ONI ‘SINVLIINSNOO ONIaHNg @ ILTANISSY 10 [8vd WW =, T8
0 A ol
S ¥004 SSV19M3l4 N m|
Q5% puiges -4 uopaky SNOS % SIAILS ME Blale L)
*, 3\\&m poindeld sjuawinosog 119NaoNd = 3] W w W m
7207 ‘L oung
Z
o= <
z 3
<k
-4
™ of
O
m
L
L |
o)
f gy O
| 22
f o M (W
\ ~ & 2
Q.
o
(1 1]
ol
O
O
[l
o
Z g
< 5
a- o
N
<
~
o

BMP'L 6.7 r-14\0202) 6271y~ T4\sBUIMEIQ - D\STIYAS ADVOTT 6.7 LI~ 14\s|er0iddy 1onpoid BPUOY - Y\IUSUBWIS - SUOS pue SBASIS\SIUBIDNZ



TONE SANVLIINSNGD aNiauinNg "MmM'yd 2202 @

C186 ‘ON Ansibey 3dgd SNOISIAZY

L616°6G9°CL8 TON @uoud F ~
SBSEE 714 'OOUIDA ‘0SZ X0d 'O°d S SNOILYAT T4 = A0 ON B o m_
“ONI ‘SINVLINSNOD ONIaTNg W“. TTENISSY H0 L1Hvd DI
i, 4000 SSv103dl] N g3

o\ WNosgs, 60¥SY "ON "3'd SNOS # S3AILS ¥ 1B s|g !
////0 40&3«0 %, PIuYss "4 uopuky i w gl olE o b
S " VN ihg peundesd syuswinoog :10Nao¥d HAEITHEIE &

TT0T ‘L sung

RERNEEN

©
(2
\8/
ELEVATION
XX

BMP'2'6.71E-14\0202) 6Ly~ T4\sBUMBIQ - D\SIYIS ADVOTT 6.L7Ly-1d\s|eroiddy 1onpoid epLOjd - Y\JusUeULIRd - SUOS pue S3ADIS\SIUBIDNZ



RRANENIN
- 17

g
-
Ly

/7
\\\\\ ‘_,*....~ &’Il
A T "t /0/’/ 0
SQ- " o
\ . SR X
- o v s gg: 3 FASERE
v, e Z3IN P :o:g §‘k =2
/ s v z : Z 0 ) &3, 20
o7 s B ~ -—m\j °Q g:O=Y o=
o B 4 - = v AN Z W~ = !-z— 8 O ©
© S S 255 SPSELg0
_ E Z R4 S 3¢50
a Z p 7, seees A 7Nz
4 o . ] ‘2 B~ ’//, 2 3 \\\‘ Zdwmp
sa Zo 2 Z s SR8
: 0.15" C-SINK e ‘I 8 5 o
L : ) [ < s z v T O Xz 0
e ) Tg | ., -—(©) e, £85¢
AP - Efz 5% ey
g ® 50
- : qfr 72 Baal
N b @ X g _g TN
‘ : o §
() . , 5|5 8
C R AL @ g g ¢ hJ g
e INTERIOR ‘\ g ==
‘ < R =
| 23
. | SR
4 %g §§
v, N EXTERIOR 1l INTERIOR &l o
| a. A $ N g g 2L
4 | 7“2\ VERTICAL CROSS SECTION k|8 85
e Shown w/ 2X Buck . | &
\\ﬁ EXTERIOR 5 Outswing shown 'g o5 3 §é
1-1/4" MIN. § RS
EMB. (TYP.) ) . o Q_‘ <
/"1 "\ HORIZONTAL CROSS SECTION DEEERPEE , TN
Shown w/ 2X Buck ] . R E= R S
Outswing shown {Inswing similar) § < . : ;
Za
zz (U < 0
SEENOTE | g @»—' a
‘ 7 T3 S S i v R e S v l_@ >|
=F ~ @
2 @\ :
o
@é 12 EXTERIOR 7= INTERIOR Z
DATE: 4,/20/22
/3" VERTICAL CROSS SECTION soE NTS.
Note: /4" HORIZONTAL CROSS SECTION 8w oW &v.__RW
1. Screws located 8" from each end of astragal plus \5_/ Outswing shown {inswing similar) cHk. B:  LFS
four {3} more located @ 23", 37" & 48" down from DRAWING NO.:
the fop of the astragal (5 screws total - countersink 3/16"). FL—41479.7
SHEET _ 5 oF 10

Z\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.7.dwg

© 2022 R.W. BUILDING CONSULTANTS INGC.



TON| SLNVAINSNOD SNIGUNE MY 22028 O

€186 ‘ON Ansibey 3484 SNOISIATY

L6L6°659°CLE “ON euoyd (1ong X1) SNOILOIS SSO¥O -
sesss 15 “souen ‘oce os 0'd ] WIUHIA B WINOZMOH ~  |-AE YA N1z 0| 51
.o.a.. ...mkzﬁ._:mzoo oNIaTINg \&v TTBN3SeY 40 1avd S=IEISL S s
W liy, Nz g =
N L Solelels T
) ot IN ”, IPIUYDS 4 UOpuAl Ll £
SV om0y R B3 |elxlET|E
" . ... D\\:ﬂm paiddesd sjuswnoog 10Nao¥Md = 2 W A.Hv W m
B = Te0t °L oung
¥ ¥
2 BOVEYON ¢ I
- . R
Gl &
“i, WHOS W
Hignnw
o
@)
o
i
Zz

/"3 VERTICAL CROSS SECTION

w Shown w/ 1X Buck
Inswing shown

EXTERIOR

44 .

b

('dAL) "awW3
NIW #/1-1

s
2
AN

"l - “

SUUTHHHITITHE i

INTERIOR

(W)

w Shown w/ 1X Buck
Outswing shown

/ 2"\ VERTICAL CROSS SECTION

EXTERIOR

("dAL) 'gwW3
NIW /L

INTERIOR

N

1-1/4" MIN.
EMB. (TYP.)

/"1 "\ HORIZONTAL CROSS SECTION
\U Shownw/ 1XBuck =
Outswing shown (Inswing similar)

= 17T

v
<
ARRLRRERRRANAY
9

BMP'L'6.7LE-14\0202) 6LyLY-TH\sBUIMEIQ - D\STIYIS ADVDIT 6L7L-14\s|eA0IddY 10nPOId BPLOI] - Y\JuBUBULIRd - SUOS pue $9AB1S\SIUBID\Z



‘ON| SLNVAINSNGD 9NICTING "M'Y 2202 O

(WRARRN NI
4
T TTN

Ak
\\\\ X

\)

T186 ON Asibey 3dad SNOISIATY
L6L6°6S9°CLE “ON suoygd (AYNOSYA 01 103410) SNOIJ3S [7g JIva TON ~
GEGEE 14 ‘OOMIDA ‘0SZ XOH O'd SSOYO VOILYIA % “IVINOZIMOH Jglzlel o m_
"ONI *SLNVLINSNOD ONIaTiNg KTEW3SSY 90 1uvd S=IEEL % s
sobeh -oN T ¥00a SSvY194341d W s BE p_w 7_
...Aaﬁod...%&u\\ PILYOS 4 UopuAT SNOS % SIS y m HE il
: " WA Z.:Ag peandeid_sjuswnoog *10NA0Yd m HHEE &

60vEY "ON

.

£y
.
.
(]

« o tesess g A\ \)
Q\S‘Iom 3 z///

\\
Y] \
7

s:::::’//

{dAL) "awW3
‘NIW b/ 1-1

TT0T ‘L dung

INTERIOR

Inswing shown

7“3\ VERTICAL CROSS SECTION
W Shown Direct to Masonry

EXTERIOR

('dAL) "aw3 n
"NIW ./ 1-1
o
oz
=
= =
O
5
SE
|3
1% 11
Oz
St
(s
ge2
S|52
x 4123
&
£ o~
Lt

INTERIOR

N
; EXTERIOR

1-1/4" MIN.
EMB. (TYP.)

Outswing shown {Inswing similar)

/"1 "\ HORIZONTAL CROSS SECTION

\U Shown Direct fo Masonry

Bmp 26271 1-14\0202) 647 Ly-T4\sBuImMeIQ - D\SIIYIS ADVOTT 6.1 -14\sjeroiddy 12npold BPLO|S - Y\IUBUBLLID - SUOS PUB S3ASIS\SIUBIIDNZ



AN SINVLINSNGD ONIGHNE "M'Y 2202 @
€186 'ON Ansibey 3Idgi SNOISIATY
L6L6°6CS9°CLE "ON euoud SNOLLOIS F |~
G6STE 4 ‘OdHIDA ‘OCZ xod O'd §v SS0Y0 TWOLLY3A A8 diyd 1ON S ul=IP o m_
0_7____ _.wkzﬁ._:mzoo oNIaing M\b} IXTEGW3SSY 80 Lavd WM R RN
1} -\ ™N o -
W 1, 4000 SSY1943414 N 2 ¥l
///ﬂk& J(ZO\Q 7, 60vSy 'ON ‘I'd SNOS % SIAILS NN EARICN _
O ..aaﬁmwu..% ‘%, IPIUYSS 4 uopuky " m s GIET | B
~ i *e -~ Wm O] m
~ W *e \J\\vam paindeid sjusWINDOQ 10Nao¥dd S|218|3518 %
Eyup A ZZ0T °L sung
v x Biop
b ", 60VEY 'ON M -
“ .—' ‘lu I’I
\ .. ..
“ Gl &
\ saee L ]
\\\\\ srom /////
Hippnny

>
b
a

INTERIOR

(30)
(32)
Yitr
©

4

7“2\ VERTICAL CROSS SECTION

L=}
o
5
> o
| (I BN I (=) 2
» . c
3 \ ‘”. SIS ..M
- , : U
: L~
S (%)
mu (2 "
E .Z_E:.V\—l_.
- A,
R -
m %
[a°4
L
[ 2]
NC N
3|2
K
Ol
1
Sk
I i
- _ A.&Ev “aW3
: .z_zz.v\_.l_.
: ®
[+%4
=
Z

BMp' 26271 7-14\0202) 6411 p-1H\sBuUIMeIq - DASIIYIS ADVOIT 6.1t~ T4\s|eaciddy 10npoid epLold - Y\iusueusd - SUOS pue SAABIS\SIUADNZ -



Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.7.dwg

FRAME CORNERS ATTACHED w/ (3) 7/16"
CROWN X 1-1/2' LONG 16 GA. STAPLES & (2)
#7 X 1-5/8" DRYWALL SCREWS @ HEAD & SILL

o
e (TYP)
TYP. ¢
( ) - 14_‘ ~ . ot 2" (TYP-) . [ I 3!1 (TYP.) |- 6" (TYP.)
R S R e [~ 4P & 4 (IYP) —— - j |
o ' B & T
ST H H IR | |
1 f — N
== 4 <& 33 52 SEE HINGE
— — o 2X BUCK - - 8 b3 DETAIL
G 1X BUCK 8o (TYP)
2XBUCK || —+ FRAME  [l— DIRECTTO SEE — =8
HEAD & JAMBS MASONRY || ASTRAGAL/SURFACE
\ (TYP) HEAD & JAMBS BOLT STRIKE BOLT g2
L | 1 _ (TYP. DETAILS 1 T >\\
I B Sz T skeLatcH
= = & DEADBOLT
wJk I — —l g& ® DETAIL
5 DOOR SILE X E i
= GE | ) - 5
I 1 55 K L | i
.“: “ o v':s'\ =
HINGE JAMB COMPOSITE ASTRAGAL
7" STEEL FLIP LOCK FLUSHBOLT (5/16" @)}
MASONRY @ EACH END OF ASTRAGAL
2X BUCK ANCHORING FRAME ANCHORING
DIRECT TO
MASONRY
A\ 1X BUCK
DIRECTTO
DIRECT TO MASONRY o [lfed] 2 o
DIRECT 1O 1X BUCK \ @é; l,° \@
1XBUCK 2X BUCK ASTRAGAL BOLT
@ 2X BUCK [/ Hote @\ @:>® A
@ @ o) — HINGE DETAIL
O '. ‘] £ -
S5 Ng = ..“:,x; = = @< i F’@ INSWING
fOi ﬁ 2 ¢ W DIRECTTO
S / F W MASONRY
A} 1X BUCK
2X BUCK( J @SiLL LATCH & DEADBOLT DETAIL
C@D 1X BUCK @HEAD e Al X BUCK
DIRECTTO o Al ey
@ HEAD MASONRY o Hlo @
ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS ASTRAGAL/SURFACE BOLT STRIKE PLATE DETAILS \)
INSWING OUTSWING \
HINGE DETAIL
HARDWARE DETAILS OUTSWING

June 7, 2022

SHEET _ 9 ofF 10

Te]
[0:3
n
)
oM
z
£ N
G o2n
A
E dowo
Z O0qo
'(\_m
. E39 g
88
D %)0'2
\ Q2D
= ON 1 9
o, ¢ ‘O
o O %52§
£ Ee Zmy
§59 d,5t
L0 50~¢
e 72 Bohh
2
£ o]
8 ¢ §
I
s &u
8 o @§
o
=
&
n X o‘é’
[ g
58| Sk
U)Q (Q
)
2 sep Lty
gb:ﬂc
n m <X
Wols o=
o E o
H'ﬁ“:s’msa%
F—'ml:gxl
o 5 S
2 >
e |F"
N P
>—
n
)
=z
-
2]
ol
o
]
z
)
w
El |2
<l |5
o o]
‘BE
@] a
Zl |o
DATE: 4/20/22 |2
scae:  N.T.S. S
DWG. BY: RW o
cik. s:  LFS |3
DRAWING NO.: x
N
FL—41479.7 |«
o
N
©




BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
A 1X BUCK (G >=0.42) WwOOD
B 2X BUCK (G >=0.42) wOOD
C 1/4" MAX. SHIM SPACE -
D 1/4" X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F 1/4" X 3-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL
H 3/16" X 3-3/4" PFH ITW CONCRETE SCREW STEEL
J #10 X 3" PFH WOOD SCREW STEEL
L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMB.) STEEL
M 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
P 1/4" X 2-1/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
1 COMPOSITE JAMB COMP
7 WEATHERSTRIP FOAM
8 SWEEP VINYL
9 4" X 4" HINGE STEEL
1 #9 X 3/4" PFH WOOD SCREW STEEL
12 LATCH STRIKE PLATE STEEL
13 DEADBOLT STRIKE PLATE STEEL
14 INSWING THRESHOLD ALUM/COMP
15 OUTSWING THRESHOLD ALUM/COMP
25 #8 X 2-1/2" PFH WOOD SCREW STEEL
30 8" SURFACE BOLT (HAGER 275D) STEEL
31 SURFACE BOLT GUIDE PLATE STEEL
32 SURFACE BOLT STRIKE PLATE STEEL
33 #10 X 2-1/2" PFH WOOD SCREW STEEL
37 ASTRAGAL STRIKE PLATE STEEL
38 ASTRAGAL (COMPOSITE) COMP
39 #10 X 2" FH SMS STEEL
40 DOOR PANEL -
41 #7 X 1-5/8" DRYWALL SCREW STEEL
42 #8 X 2-1/2" FH SMS STEEL

1.25"

4.56"

0.75"

1

1.44"

e 2.13"

COMPOSITE JAMB

WORLDWIDE "4EVER"

- 1.44" T

3.54"

1.78"

0.6"

235"

—

0.94'

@COMPOSITE ASTRAGAL

5.62"

14 INSWING THRESHOLD

Columbia

AW /
‘\\\\ X /i',”/
SL T O
~ K ’.. /, o]
E Bz 2
d . -
ss‘ (2] &Y - m
=5id g 8. 3zg "
w— . . 4
ZOill ¢ X (S5
208 g g.-zw;“?-’:’
— V3 =z :O:}— oM
PR ) FOS 200
< o, o ~ &
2, 2 O E 50,
,/ ‘e 3 N 'Jo‘oo
/U LT TPPY of O :)>,,52
‘s DS n <
“ty, X W 23w
“'I‘ ‘\\(%‘ ON':E
- O O
X
Pf, Z8,°%
g =@ [a} o
n.-‘C)O O L e
» A% 502k
gl "2 mosl
Sls u
s o
N
5)5 4
»-;o_?m

STEVES & SONS
FIBERGLASS DOOR

wood screws to prevent the splitting of wood.

n
<
x
3 =€
= 1 =
244" | ] H S8
. l 9 QI
o P x| &
.4 —{ § o
o) 1=
0 2 4
7 1L
T >
mn
4.6" ! ?
15 OUTSWING THRESHOLD
Columbia
%]
zZ
©
v
o
CONCRETE ANCHOR NOTES:
. Concrete anchor locations at the cormners may be adjusted fo maintain the min.
edge distance to mortar joints.
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors Ll
may be required fo ensure the "MAX. ON CENTER" dimension are not exceeded. E
. Concrete anchor table: =
et e S
| EMBEDMENT =
- 11/4 S , 3 - \ T ) DATE: 4/20/22
- i il 1 -1 11 )
TAPCON® /4 > o scae:  N.T.S.
DeWALT . DWG. BY: RW
ULTRACON? 1-1/ 1 4 cik. B LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—~41479.7

sHEET 10 oF 10

Z:\Clients\Steves and Sons - Permanent\A - Florida Product Approvals\FL-41479 LEGACY SERIES\C - Drawings\FL-41479 (2020)\FL-41479.7.dwg

© 2022 R.W. BUILDING CONSULTANTS ING.



